EE 450/550
Test # 1 - Oct 20, 2005 in class

speed v. Write down the dynamics for the object velocity. Solve the dynamical
equation to calculate a formula for v (t) assuming that v (0) = vg. Use symbol &
for the proportionality constant. Hint: You May Use Laplace. (50}

- Linearize the following system
T=2—cosz

about its fixed point(s). Use the following plot if necessary. Hint: First find fixed
point & and then apply Taylor series expansion upto linear term about that fixed
point. (40)

Figure 1:

- Linear systems are characterized by the property of superposition. Explain what
is meant by superposition? (10)
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